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Training in which employees learn by

doing - the  work and  acquire

“adininfstedtive skills through practice is

called

(1) Formal training

(2) Informal training
(3) Refresher training
(4) Orientation training

When was the -Sandwich Training
Programme’ for Public Services started
in India ?
(1) 1969
(3) 1973

(2) 1970
(4) 1975

Money can be advanced out of the
Contingency Fund of India to meet
unforeseen expenditures by the

(1) Rajya Sabha
(2) President of India
(3) Minister for Finance

(4) Prime Minister

When amount authorized by Parliament
for a service is found to be insufficient for
that year, it is known as

(1) Supplementary Grant

(2) Additional Grant

(3) Excess Grant

(4) Vote on Account

A system of budgeting which emphasizes
the planning aspect of budgeting for
selecting the best out of a number of
available programmes and for optimizing
the choice in economic terms is known as

(1) Zero-based bud geting
(2) Sunset legislation
(3) PPBS

(4) Line-item budgeting
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10.

The principal function of the State

Secretariat is to

(1) carry on day to day administration of
the state.

(2) supervise the work of field agencies.

(3) assist in policy formulation and its
implementation.

(4) manage public relations.

Which of the following caters to the
needs of all ministries and departments of
the Union Government of India ?

(1) Cabinet Secretariat
(2) Central Secretariat
(3) Prime Minister’s Oftice (PMO)

(4) President’s Secretariat

In which year the Cabinet Secretariat
came into existence first at central level
in India ?
(1) 1947
(3) 1950

(2) 1948
(4) 1951

In State Administration a Chief Secretary
is appointed for a tenure of

(1) 3 years
(2) 4 years
(3) 5 years
(4) Tenure not fixed

Chief Secretary to the state government
is also

(A) Secretary to the Chief Minister.

(B) Head of the Civil Services in the
State.

(C) Secretary to the State Cabinet.
(D) Advisor to the Governor.
Which of these are correct ?

(1) (A)and (B) (2) (A)and (C)
(3) (B)and (C) (4) (B)and (D)
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12.

13.

14.

15.

The formal channel of official
communication between a Secretary to
the Government of India and the State
administration is

(1) Secretary to the Chief Minister

(2) Governor of the State
(3) Chief Secretary

(4) Secretary to the

concerned

Department

In the state secretariat administration, all
files for the decision of the Cabinet
finally pass through the

(1) Secretary of the Department

(2) Deputy Secretary

(3) Chief Secretary

(4) Under Secretary

The immediate superior officer of a District
Collector in State Administration is
(1) Home Commissioner

(2) Divisional Commissioner

(3) Personnel Secretary

(4) Chief Secretary

A District Collector is basically :
(1) A Generalist officer

(2) A Specialist officer

(3) A Politician

(4) A Journalist

Match List-I with List-Il and select the
correct answer by using the codes given
below the lists :

List-1 List-11
1. The head of a. Chief
revenue Minister
administration

of a district

[I. The head of b. Divisional

civil service in Commissioner
State

[Il.The head of c. District
divisional Collector
administration

IV.The real head  d. Chief
of state Secretary
administration

Codes :

I 11 m 1w

(1) c d b a

2} ¢ b d a

(3) d b d a

4y d a c b
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In District Administration, the principal
function of a Tahsildar is

(1) Administration of Land Revenue.
(2) Census.
(3) Ration Distribution Central.

(4) Distribution of Loan to poor people.

Lakhina (Ahmednagar) Experiment was
related with the

(1) Rural Development

(2) Tribal Development

(3) Health Administration

(4) District Administration

Who among the following has been
designated as the Head of the Municipal
Corporation ?

(1) Chairman / Chairperson

(2) Municipal Commissioner

(3) Mayor

(4) Councillor

The Quoram for meeting of a municipal
council’s elected body is :

(1) 174 (2) 1/3v

(3) 2/3¢ (4) 3/4™"

After 74" Constitutional Amendment
Act, the number of total vacancies
reserved for women candidates in Urban
Local Bodies are
(1) 3/4"
(3) 13

(2) 1/2%
(4) Not fixed

Which one of the followings is the highest
body of Panchayati Raj Institutions’ three
tier plan after Democratic
Decentralisation in India ?

(1) Gram Sabha

(2) Gram Panchayat

(3) Panchayat Samiti

(4) Zilla Parishad



22,

23.

24.

25.

syrefion feremrer we demRr Ot fawm g oA
(S.H.R.E.E.) 31 T T e et =i ot -
(2) A 20159
(3) EE 20168 (4) IeE 2017 €

(1) =/ 2014 9

frifia #f & 733 SRagW Fied $ 91

T S | T W TE 8 7

(1) g T o6 Preadia s

(2) T fam s s e

(3) e T e g 22 T
TasareA

(4) T | <R o YfhenT

F9 T T+ TR & T=TEd] TS T8
1 gaved e Rt ?
(1) TS a1 Hesey
(2) FASTSE AT HEATCH
(3) TS TAT STI0CH

(4) TSI T eiUd

eTerd v 0 HE fafei
bR 1 e fE T g

(1) Sfes weu Regr =

(2) wre wee fagr= |

(3) SHAERETE UM |

(4) Fifirromes faga §

22

23,

24.

2.

S.H.R.E.E. Yojana by Department of
Rural Development & Panchayati Raj
was launched in the State from

(1) March 2014 (2) April 2015

(3) July2016  (4) July2017

Which one of the following is not coirect
about 73" Constitutional Amendment ?

(1) Three tier system of Panchayati Raj.

(2) Setting up a State Finance

Commission.

(3) 22 subjects to be performed by
Panchayati Raj Bodies.

(4) Insignificant role of Gram Sabha.

Which states adopted Panchayati Raj
form of Government first ?

(1) Rajasthan and Madhya Pradesh

(2) Andhra
Pradesh

Pradesh and Madhya

(3) Rajasthan and Andhra Pradesh

(4) Rajasthan and Gujarat

-Standardization of work methods® in
organizational management has been
advocated by the

(1) Scientific Management Theory
(2) Human Relations Theory

(3) Behavioural Approach

(4) Motivational Theory
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Match List-1 with List-Il and select the
correct answer by using the codes given
below the lists :

List-1 List-11
(Explanation) (Theories)

. Universal a. Human
principles of Relations
organization. Theory

[I. Standardization b. Classical
of work Theory
methods.

[11. Psychological c. Scientific
motivations and Management
informal  group Theory
behaviour.

[V.The most rational  d. Bureaucratic
among the means Theory
of achieving
control.

Codes :

(1) d b a (&
(2) b c a d
3) b d c a
(4) a c b d

Henry Fayol stated that top management
is responsible for the performance of 35
important functions. These were

(1) Planning, organization, command,
co-ordination and control.
Policy-making,
management,
reporting.
Organization, budgeting, public
relation, administrative reform and
delegation.
Decision-making,
planning,
control.

()

Planning
communication and

(3)

delegation,
co-ordination and

Who among the following thinkers has
given “One Best Way" of doing work in
the organisation ?

(1) Henry Fayol

(2) F.W. Taylor

(3) Elton Mayo

(4) Willoughby
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33,

Who among the following has been main
propounder of the Human Relations
Management Theory of Organisation ?
(1) F.W. Taylor (2) Elton Mayo

(3) Chester Bamard (4) William Dickson

The Hawthorne Experiments conducted

at Western Electric Company revealed

the significance of

(1) Standardization of work procedure.

(2) Informal social groups in the
organization.

(3) Payment on group basis.

(4) Management response to worker’s
demands.

Which of the following is not one of the
types of Authority according to the
concept of Max Weber ?

(1) Traditional  (2) Bureaucratic

(3) Charismatic  (4) Legal-rational

Which one of the following steps does
not find place in Simon's Decision-
making Model ?

(1) Intelligence  (2) Design

(3) Choice selection (4) Reaction

Which one of the following is not a type
of communication in administration ?

(1) Downward communication.
(2) Upward communication.
(3) Sideward/across communication.
(4) Parallel communication.

~Leadership refers to the quality of the
behaviour of individuals, whereby they
guide people in the activities in organized
effort.” Who made this statement about
leadership ?

(1) Seckler Hudson

(2) Chester L. Barnard

(3) L.A. Allen

(4) Koontz & O Donnell
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The two factor theory of motivation has
been propounded by the scholar

(1) McGregor (2) Herzberg
(3) Maslow (4) Peter Drucker

Which one of the following theory of
motivation has been given by A.H.
Maslow ?

(I) Theory X and Theory Y
(2) Two factor Theory

(3) Need Hierarchy Theory
(4) Carrot and Stick Theory

In Government of India, the Department

of Official Language is a part of

(1) Ministry of Finance

(2) Ministry of Home Aftairs

(3) Ministry of Social Welfare

(4) Ministry | of
Development

Human Resource

Which one of the departments is not a
part of Ministry of Home Affairs,
Government of India ?

(1) Department of Border Management

(2) Department of Internal Security

(3) Department of Home

(4) Department of Public Security and
Prisons

Which one of the following divisions of
Department of Economic Affairs of the
Ministry of Finance deals with public
debt, market loans, ways and means
position of the government, interest rates
on government borrowing and lending
and the Contingency Fund of India ?

(1) Economic Division

(2) Budget Division

(3) Investments Division

(4) Currency and Coinage Division
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42.

43.

44.

How many departments are there under

the Ministry of Personnel, Public

Grievances and Pension of the

Government of India ?

(1) Three (2) Four

(3) Five (4) Six

Which one of the following is not a

department under the Ministry of

Personnel, Public Grievances and

Pensions, Government of India ?

(1) Department of Personnel and
Training.

(2) O & M Department.

(3) Department  of Administrative
Retorms and Public Grievances.

(4) Department of  Pensions and
Pensioner’s Weltare.

"Organisation and Methods (O & M) is

connected to which of the following

departments ?

(1) Department of Personnel  and
Training

(2) Department of  Administrative
Reforms and Public Grievances.

(3) Department of  Pensions and
Pensioners” Welfare.

(4) All of the above

Which one: of the following is not a

function of the Election Commission of

India ?

(1) Demarcation of constituencies.

(2) Preparation and updation of electoral
rolls.

(3) Recognition of political parties and
allotment of symbols.

(4) To select candidates for election.

Which among the following is not a
qualification to be a member of Finance
Commission ?

(1) Wide public experience in public
affairs.

(2) Special knowledge of finance.

(3) Special knowledge of Economics.

(4) Wide experience in financial matters
and administration.
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1.

Election Commission of India does not

conduct elections to

(1) the offices of President and Vice-
President of India

(2) both Houses of Parliament

(3) both Houses of the State Legislature

(4) corporations, municipalities and

other local bodies.

In which year Planning Commission was
dissolved and replaced by the NITI
Aayog ?

(1) 2013 (2) 2014

(3) 2015 (4) 2016

Which one of the followings is not a
Constitutional body in India ?

(1) Finance Commission

(2) National Human Rights Commission
(3) Election Commission of India

(4) Union Public Service Commission

The State Human Rights Commission is
a multi-membered body consisting of :

(1) A chairman and one member
(2) A chairman and two members
(3) A chairman and three members
(4) A chairman and five members

Rajasthan Human Rights Commission
was constituted under the provisions of
the Protection of Human Rights Act,
1993 which became functional from
(1) March 1998 (2) March 1999

(3) March 2000 (4) March 2002

Under which Article of the Indian
Constitution Governor of a State may
promulgate ordinances ?

(1) Article 213 (2) Article 231

(3) Article 356  (4) Article 370
Who administers the oath of office to the
members of the State Council of
Ministers ?

(1) Prime Minister

(2) Chief Minister

(3) Chief Justice of High Court

(4) Governor



52

54.

55.

56.

frffiaa § § B Sr<-AIEplas T
SRS 3R 8 Tt 8 7

frfafiaa § & e e i HA
wrEl e -3E 9Ul A -39d
e E R R ?

(1) AR TAleh TIEH

(2) Taeerd v9mEA

(3) IraUgE gerEd

(4) TR i quT A

T I e e B A R

(1) hE=TTE o1 =3 Ug) T 9ar=d HEAl

(2) TE-IRERE W TR FH B
HTHeRT T T

(3) fruffa =ei 61 wifa &9 BISE
TSTEE a1 1 S=AEh Tl
gl

(4) TTHR g U 1 fereprd T

I ¥ dfeuE % BH § 3TE06 6

ST=qila U= fare 3T & e w1 TEd™

fp T2 ¢

(1) 3TT=8¢ 243 B: (2) TV 243

(3) ITBE 243 % (4) DL 243

733 qut 744 wfaym guaE At
3 oETE URE & Siage H freifea 5 9
A 78 il afEfa HI T E ¢
(1) sfiqemodi  (2) 9dfi U 104
(3) 10 qen 11 (4) 11 @wr 1270

el wfaaT i A -E g % ST
Tt ST /SroTre b1 2 fean e R 2

(1) gt g=h (2) T=F g
(3) THEAi gl (4) S

12

52.

53.

54.

a5

57.

Which of the following is concerned with
cross-cultural and cross-national
studies ?

(1) Indian Administration

(2) Public Personnel Administration

(3) Development Administration

(4) Comparative Public Administration

Which of the following branch of Public
Administration is concerned  with
change-oriented and ~ Goal oriented
objectives ? ’

(1) Comparative Public Administration
(2) Development Administration

(3) International Administration

(4) Public Policy and Governance

In simple words - Administrative

Development” means :

(1) Promotion of employees on higher
posts.

(2) Transfer of employees to assume
new responsibilities.

(3) To increase internal capacity of the

existing administrative system to

accomplish set goals.

To do development of the nation by

the Government.

Which Article of the Constitution of
India provides for the Constitution of the
State Finance Commission ?

(1) Article 243-G (2) Article 243-H
(3) Article 243-1 (4) Article 243-]

Which of the following new schedules
have been included in the Constitution of
India after 73" and 74" Constitutional
Amendment Acts ?

(1) 8" and 9" (2) 9" and 10"

(3) 10" and 11" (4) 11"and 12"

In which list of the Indian Constitution
the local government / administration has
been placed ?

(1) Union List ~ (2) State List

(3) Concurrent List (4) Central List
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Who among the following usually have a
dominance in Public Services of India ?

(1) Generalists officers
(2) Specialist officers
(3) Educationists

(4) Military ofticers

Which Section of the Indian Penal Code
(L.P.C.) clearly detines the problem of
corruption in public services ?

(1) 1ol (2) 171

(3) 211 (4) 261

E-Governance can be an etfective tool for

public administration of developing
countries in
(1) Bringing good governance

(2)

Fostering/enhancing
speed

development

(3)
(4)

Improving public management
All of the above

In which country the concept of Citizen’s
charter was formally implemented first ?
(1) India (2) China
(3) Britain (4) Japan

Under Right to Information Act, in the
event of non-availability of information
from the information officer the first
appeal can be filed after :

(1) 20 days (2) 30 days
(3) 45 days (4) 60 days

Schedule X1 of the Constitution relating
to the Panchayats contains

(1) 18 subjects (2)
(4)

28 subjects

(3) 19 subjects 29 subjects
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Which of the following are the common
compulsory provisions of the 73" and
74™ Constitutional Amendment Acts ?
(A) Five yearly elections

(B) Reservation for backward classes
(C) Reservation for women

(D) Nagar Panchayats

Select the correct answer using the code
given below :

(1) (B) and (C)

(2) (A)and (D)

(3) (A). (B),(C)and (D)

(4) (A)and (C)

Which one of the following is not a tool

of executive control over public

administration ?

(1) Control through policy making.

(2) Control through ministerial
directions.

(3) Control through budgetary system.

(4) Control through call attention

motion.

Which one of the following does not fall

under the category of extra-ordinary

judicial remedy ?

(1) Habeus Corpus

(2) Mandamus

(3) Lack of Jurisdiction

(4) Quo-Warranto

Which of the followings is the main

objective (goal) of a public welfare state ?

(1) To rule strictly

(2) Development of individuals and
society

(3) To frame laws

(4) To give full liberty to the people.

In which part of the Constitution of India
the concept of Welfare State has been
expressed ?

(1) Preamble of the Constitution

(2) Chapter on Fundamental Rights
(3) Directive Principles of State Policy
(4) Chapters on Legislature
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Who among the followings is author of
the book “New Despotism™ ?

(1) Lord Hewart (2) Lord Acton
(3) Lord Bryce (4) Gunnar Myrdal

Which one of the followings is an
example of Bi-party Political System ?
(1) China and India

(2) Britain and Russia

(3) Russia and America

(4) Britain and America

Which of the following has been
attributed as "Life blood of democracy™ ?
(1) Social traditions

(2) Pressure politics

(3) Political parties

(4) Provisions of law

Which one of the followings is not
considered as a pressure group ?

(h
(2)
(3)

Indian Medical Council

Rastriya Swayam Sevak Sangh

All India Federation of University
and College Teachers

(4)

Indian National Congress

How many Regional Officers are set up
under the jurisdiction of the directorate of
local bodies in Rajasthan ?

(1) Six (2) Seven

(3) Eight (4) Ten

Which one of the followings
committee/commission discussed

secretariat — directorate relationship ?
(1) Sir Rolland Committee

(2) Masterman Committee

(3) Paul Appleby Committee

(4) Lee Commission
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Which one of the following pairs is not
correctly matched ?

(1) Writ of — Direction to
Mandamus the ofticial
for the
performance
of a duty
(2) Writ of — Prohibition of
Injunction an action
(3) Writ of — Issued by a
Certiorari superior

court to an
inferior court
By what
authority ?

(4) Writot Quo —
Warranto

Which one of the following statement is
not correct with regard to appointment of
Acting Chief Justice of Supreme Court ?

(1) President of India has power to
appoint Acting Chief Justice under

certain conditions.

The Chief Justice of India has
power to appoint Acting Chief
Justice.

The Acting Chief Justice can be
appointed if the oftice of the Chiet
Justice of India is vacant.

(4) If Chief Justice of India is unable to
perform his duties, an Acting C hief

Justice can be appointed.

Under which of the following Articles of
the Constitution of India, the President of
India can seek advice of the Supreme
Court ?

(1) Article 141 (2) Article 142
(3) Article 143 (4) Article 145
In  which  year the Rajasthan

Administrative Reforms Committee was

constituted for  Reforming  State
Administration ?

(1) 1953 (2) 1956

(3) 1960 (4) 1963
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Which of the tollowing commissions was
constituted for reforms in Rajasthan State
Administration ?

(1)  Mohan Lal Sukhadia Commission

(2)  Shiv Charan Mathur Commission

(3) Bheron Singh Shekhawat
Commission

(4)

Hardev Joshi Commission

Which of the following statements
regarding “New Public Administration’
are true ?

(A) It rejects that public administration

which is value-free.

(B) It rejects politics-administration
dichotomy.
(C) It rejects that public administration

which does not support policy.
(D) It is more or less bureaucratic and

hierarchical.

Select the correct answer from the codes
given below :

Codes :
(1) (A),(B)and (C)
(2)  (A).(C)and (D)

(3)
(4)

Globalisation and Liberalisation will lead
public administration towards :

(A), (B) and (D)
(B). (C) and (D)

(1) Professionalism in public services.

(2) Competition from private
administration.

(3) Bureaucratic flexibility.

(4) All of the above.

Good Governance and participating civil
society for development was stressed in
World Bank Report of

(1) 1992 (2)
(3) 2002 (4)

1995
2005
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Which one of the following is not correct
about the systems approach ?

(1) A system is more than sum of its
parts.

(2) A system can be considered to be
either closed or open.

(3) Boundaries in system are neither
rigid, impenetrable nor closed.

(4) If a system is to achieve dynamic

equilibrium, it must not have an
interaction with its environment.

The principle of “Anonymity’ has been
directly derived from the

(1) Principle of Legality

(2) Principle of Collective
Responsibility

(3) Principle of Cabinet Responsibility
/ Ministerial Responsibility.

(4) Principle of Professional
Responsibility.

The process of eliminating demerits of
bureaucracy for sustainable development
has been called as

(1) Unresponsiveness

(2) Debureaucratisation
(3) Inertia and Rigidness
(4) Insensitiveness

The National Commission for Scheduled
Castes and the National Commission for

Scheduled Tribes have been constituted
by

(1) Provisions of the Constitution of
India.

(2) Acts of the Parliament of India.

(3) Administrative Decision of
Government.

(4) Supreme Court of India.

09



87.

88.

89.

09

frafafga 4 9 =9 @1 *w= & a3

3YHAT 1 AR WA TR 6 Taet

ffarandudi 2 ?

(A) ¥ Toret afEi=HT 5 2 1,000 *US 3
5,000 HUS G @ Moy a9 &1
Tehd 2 I1 I 91 5 15% o |

(B) ¥ Tt wspet afedisn § T 1,000
HUS Toh AT 3 ¥4 & IE oI
1S % oeh o 99 T Hhd 2 |

(C) AT 500 TS T AT 319 & o G
& s, S o e FL e g =
HHd 2 |

(D) ¥ ¥ 300 TS T AT 39 & & Ig
& sy, o ot %1 7, ey 99 =
Hhd 7 |

=l fou e e H | 9t I g

(1) (A) 3R (B)

(2) (A). (B) 3R (C)

(3) (B), (C) 3R (D)

(4) (A), (B), (C) 3R (D)

frferfiga § & = = v s fgda

U YR 3TEN ZRI 2 hl i 2 7

(1) eheiva Tarferet e wiferesor &1 Tem

(2) eI g9 99 I

(3) G 99K ¥ 3= v qX Hieft welf
FET

4) 1499w 20 o i Far ol @9
% ST TLHRI Telehl <hil e GHien
T

frafafga § & = =t yomafies gur &

T | g g 8 7

(1) Hari = fd yemafies serefiar

(2) TSHIfaes 31 fea <t sl

(3) s afteadAl & ufd srea

(4) 39U Fefi

19

87.

88.

89.

Which one of the following statement is
correct about the “Navratna® policy of the
Government of India in respect of public
sector undertakings ?

(A) From ¥ 1,000 crores to < 5,000
crores, are free to decide on
investments or upto 15% of their
worth in a project.

Upto T 1,000 crores or 15% of their
net worth on a single project.

(B)

(C) Upto T 500 crores or equal to their
net worth, whichever is lower.

Upto T 300 crores or upto 50% of
their net worth, whichever is lower.

(D)

Choose the correct answer from the codes
given below :

(1) (A)and (B)

(2) (A).(B)and (C)
(3) (B),(C)and (D)
(4)  (A), (B), (C) and (D)

Which  one of the following
recommendations has not been made by
the Second Administrative Reforms
Commission ?

(1) Constitution of Central Service
Civil Authority

To Prepare Work Performance
Budget

Direct recruitment on higher posts

from open market.

(4) In depth review Government
servants after completion of 14
years and 20 years of service.

Which of the following has been main
problem in the way of administrative
reforms in India ?

(1)  Administrative neutrality towards
reforms

(2) Lack of political will

(3) Inertia towards administrative
changes

(4) All of the above
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~Educational Psychology is the science
of education™ who's definition is this ?

(1) E.A. Peel (2) C.E. Skinner
(3) Crow and Crow (4) Woodworth

Some essential points for teaching skills
are given below :

(A) To assist in organizing
examination.

(B) To motivate the group of learner.

(C) To present subject  contents
effectively.

(D) Proper use of audio-visual aid.

(E) To take interest in School
administrative.

Which combination is correct from

following ?

(1) (A).(B)and (D)
(2) (A), (C)and (D)
(3) (B).(C)and (D)
(4) (B),(C)and (E)

How would you treat those students who
ask a lot of questions in the class ?

(1) Discourage them

(2) Ask them to leave the class

(3) Ignore them

(4) Appreciate them.

During class room teaching-learning
process the teacher should keep in view
which of the following aspects ?

(A) Physical (B)

(C) Emotional

Mental
(D) Social

Select correct answer trom the codes
given below :

Codes :
(1) (A),(B)and (C)
(2) (B),(C)and (D)
(3) (A),(C)and (D)
(4) (A)and (B)
09
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Match List-1, with List-1I and select the
correct answer from the codes given
below :

List-1 List-11
I.  Operant a. W.S. Feitz
conditioning
Model
II. Awareness b. B.F. Skinner
Teaching
Model
I11. Group c. Jean Piaget
investigation
Model
IV.Cognitive d. John Dewey
Development
Model
Codes :
I I n 1w
(1) b a d C
(2) a e b d
3) d b c a
4) ¢ d a b
Who introduced ftirst time the “Question-
Answer Method™ for the Cognitive
Development in Learners ?
(1) John Dewey (2) Socrates
(3) Rosseau (4) Auristotle

What step would you take when students
are not attending your class ?

(1) Ignoring the reality

(2) By making teaching interesting and
effective,

(3) By using technique to appease
them.

(4) Problems be solved after
diagnosing the causes.

Some Psychological principles of

learning are given below, which

combination is correct ?

(A) From known to unknown
(B) From simple to complex
(C) From concrete to abstract
(D) From unknown to known
Codes :

(1) (A), (B) and (C)

(2)  (A).(C) and (D)

(3)  (B). (C) and (D)

(4) (A),(B)and (D)
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Which method is most effective for the
moditication of children’s behaviour >

(1) By rewarding

(2) By physical punishment
(3) Proper counselling

(4) Self-realization

For a successful teacher, the knowledge
of the principles of learning is important
because

(1) It helps in saving time.

(2) Itis useful in making teaching easy
and interesting.

(3) It is helptul in class discipline
while teaching.

(4) It helps to complete the curriculum

in a planned way.

Before beginning the teaching of a lesson
in the class what steps be taken first in
priority from the following ?

(1) Questions be asked on the chapters
taught earlier for evaluation.

(2) Some questions related to the new
lesson be asked on previous
knowledge.

(3) Diagnostic questions be asked on
the previous knowledge.

(4) Problematic questions based on

new lesson be asked.

Which of the following is used at the final
stage of a lesson ?

(1) Use of visual aid

(2) Evaluation

(3) Assigning fixed task & complete
(4) Use of a text book

Which one of the following strategies
used in a classroom makes a teacher most
memorable by student ?

(1) Telling stories to motivate the
students in the class.

(2) Teaching by lectures delivered
fluently.

(3) Teaching the subject content with
proper understanding.

(4) Teaching the students with
amusements.

09
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How would you develop a sense of
co-operation among students ?

(1)

By preaching.

(2) Showing a picture on co-operation.
(3) Giving a group work.
(4) Giving an individual task.

Arrange the following steps of teaching-
learning process in the correct sequence
and sclect the correct answer from the
codes given below :

(A) Organizing

(B) Planning

(C) Leading

(D) Controlling

Codes :

(1) (A), (B), (C) and (D)

(2) (D), (A), (B)and (C)

(3) (B), (A). (C) and (D)

(4) (D), (). (B) and (A)

What should a teacher do for

development of learning among students
during teaching-learning process ?

(1)
(2)
3)

Excess use of black board.
To make teaching interesting.

To ask question to the selected
students in the class.

(4) To keep authoritarian discipline in
the class room.

Which of the following step you will take
to solve the difficulties encountered in
the class-room teaching ?

(1) Improvement in the class
management.

(2) Giving task to the class.

(3) Diagnosis the reason of difficulty
and improvement in teaching
strategy.

(4) Improvement in the students
behaviour.
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Select one of the following statements
which is correct :

(1) Instructional Technology is an art
of teaching.

(2) Instructional Technology is 2
science based on the teaching
learning skills.

(3) Instructional Technology is a
Teaching Machine.

(4) Instructional Technology is

Cybernetic Psychology.
Who are the writers of the following texts —
match List-1 with the List-II and given
correct answer from the given codes :

List-I List-11
[. Emile a. Rosseau
[1. Outline of b. John Lock
Psychology

c¢. William
MacDougal
d. Thorndike

[11. Empiricism

[V.Educational

Psychology
Codes :
1 11 " 1w
(1) a b C d
2 C d a
(3) c b d
(4) b d a

Which of the following component is not
related to the teaching skills ?

(1) Stimulus variation

(2) Skill of Reinforcement

(3) Skill of Black board writing
(4) Guidance and Counselling

“Learning by doing is the meaningful
learning.” This statement is given by
whom ?

(1) John Dewey (2)
(3) Watson (4)

Bruner
Thorndike

Which one of the following component is
not related to the Communication Skill ?

(1) Medium (2) Continuity
(3) Motive (4) Planning
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For adolescent learner match the List-I
with the List-Il and select the correct
answer from the code given below :

List-I List-I1
I.  Enquiry a. Richard
Training Model Sachman
[1. Inductive b. Hilda Taba
Thinking
Model
[HI. Concept c. Flender
Attainment
[V.Interaction d. Bruner
Model
e. Skinner
Codes :
I 11 1 1w
(1 e d C b
(2) b C d a
(3) a b d C
(4) a b c d

. Which one of the following is not

correctly matched in context of
development of learner ?
(1) Sigmund — Psychoanalytic
Freud Theory
(2) Jean — Cognitive
Piaget Development
Theory
(3) Lawrence — Moral
Kohelberg Development
Theory
(4) Hilda- — Constructivist
Taba Theory
Programmed learning where every

learner follows the same path is called

(1)

Linear Programme

(2) Branching Programme
(3) Linear and Branching Programme

(4)

Descending Programme
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Which one of the method is not related to
the “System approach™ in Teaching-
Learning process ?

(1) System Engineering

(2) System Analysis

(3) System Research

(4) System Management

-Software™ approach is a form of
Technology which is

(1) Concrete

(2) Abstract

(3) Concrete and Abstract

(4) No option is correct.

Which from the following is the material
aid which makes popular and up to date
knowledge as an electronic brain ?

(1) V.C.R. 2] CECTEM
(3) Television (4) Computer
Computer  Assisted  Instruction is

individualized instruction because

(1) Students having varied type of

entering behaviour

(2) Learner can learn the same content

(3) A computer takes decision about
instructional material based on the
learner’s entering behaviour.

(4)  All of the above

Match the incorrect pair from following
list :

(1) Glaser — Computer based
Teaching Model

(2) Thelen —  Group
Investigation
Model

(3) David — Advanced

Ausubel Organizer

Models

(4) Carl Rogers — Non-directive
Models
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"By Public Administration is meant in
common usage the activities of the
executive branches of national, state and
local governments.” Who has given the
above definition of Public
Administration ?

(1) Simon (2) Pfifther

(3) Dwight Waldo (4) Marshal Dimock

Which one of the following statement is
correct in relation to the “Nature™ of
Public Administration ?

(1) Public Administration is a Science.
(2) Public Administration is an Art.

(3) Public Administration cannot
became Science.

Public Administration is a Social
Science.

Importance of Public Administration has
increased on account of the factors :

(A) Welfare State

(B) World Wars

(C) Economic Planning

(4)

(D) Technological Advancement
Select correct code from the following :
(D (A (B), (O)

(2) (B), (C), (D)

(3) (A). (C). (D)

@) (A). (B). (C), (D)

“The period of crisis of identity”™ of
public administration as a discipline has
been during

(1) 192710 1937 (2) 1938 to 1947

(3) 1948 t0 1970 (4) 1971 to 2005

The principal difference between public
administration and private administration
is based on

(1) To earn profit

(2) Efficiency

(3) Public Responsibility

(4) Complexity in Decision Making
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125. Which

among the following IS

recognized as the first Text Book of

Public Administration ?

(1) Elements of Public Administration.

(2) Introduction to the Study of Public
Administration.

(3) Modern Public Administration.

(4) Public Administration Theory and
Practice.

Who among the following scholars is
associated with the politics-administration
dichotomy ?

(1) Max Weber (2) Woodrow Wilson
(3) Dwight Waldo (4) Herbert Stmon

. Which of the following are the advocates

ot mechanistic theory of organization ?
(A) Luther Gullick (B) Elton Mayo

(C) Roethlis Berger(D) Henry Fayol
Choose the correct answer from the codes
given below :

(1) (A)and (D)

(2) (B)and (C)

(3) (A)only

(4) (A).(B)and (D)

. Which one of the following is not a

characteristic ~ feature ~ of  formal
organization ?

(1) Social Relationship

(2) Unity of Command

(3) Delegation of Authority

(4) Clear Division of [Labour

. Which one of the following is not

considered as a basic element of
organization ?
(1) Purpose

(3) Authority

(2) Process
(4) Person

. How many principles of organization

have been propounded by L. Urwick ?
(1) Five (2) Six
(3) Seven (4) Eight
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Concept of POSDCORD indicates which
dimension of public administration ?

(1) Meaning (2) Nature

(3) Scope (4) Importance

Which one of the following is not a
determinant element of the limits of
control ?

(1) Work (2) Time

(3) Place (4) Subordinate

Who introduced Gangplank system in
hierarchy ?

(1) Henry Fayol

(2) Luther Gullick

(3) James D. Mooney

(4) George Elton Mayo

"Gracunas formula’ is associated with
which principle of organization among the
following ?

(1) Hierarchy

(2) Span of Attention

(3) Unity of Command

(4) Division of Work

Who defined organizations as
“consciously co-ordinated co-operative
systems 77

(1) Henry Fayol

(2) Chris Argyris

(3) Chester I. Barnard

(4) A. Etzioni

- Who among the following is a strong

supporter of the principle of unity of
command ?

(1) Henry Fayol
(3) Willouby

(2) Max Weber
(4) Herbert Simon

Which  of the followings is/are
limitation(s) of  delegation in
administrative organizations ?

(1) Specitic condition

(2) Nature of Job

(3) Communication

(4) All of the above

Which one of the following gives the
correct meaning of co-ordination ?

(I) Specialization of the task among the
groups.

Avoidance of overlap.

The separation between staff and
line activities.

Establishment of organization outside
the control of the chief executive.

(2)
(3)

(4)
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Who among the following thinkers
emphasized that -co-ordination is the first
principle of organisation” ?

(1) George Terry (2) J.D. Mooney

(3) Luther Gullick (4) Chester Barnard

The -acceptance’ concept of authority
was given by

(1) L. Urwick (2) L.D. White

(3) Henry Fayol (4) Chester I. Barnard

In India. cabinet secretariat is a/an
(1) Line Agency

(2) Staff Agency

(3) Auxiliary Institution

(4) Autonomous Body

The Constitution of India

(1) 1s a Constitution framed by the
people.

(2) is a Constitution framed by the
Bureaucracy.

(3) is a Constitution framed by the
Government.

(4) is a Constitution framed by the
Executive.

In which among the following the

Executive power of the union is vested as
per provisions of the Indian Constitution ?
(1) President of India

(2) Prime Minister of India

(3) Council of Ministers

(4) Indian Parliament

Which one of the following is an issue
about which a Governor cannot make a
recommendation of the President ?

(1) Dismissal of the State Council of
Ministers.

Removal of the Judges of the High
Court.

Dissolution of the State Legislative
Assembly.

Declaration of breakdown of the
constitutional machinery in the
State.
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“Whatever Government chooses to do or
not to do, is Public Policy.” The above
definition of public policy has been given
by

(1) Robert Einstein

(2) Thomas R. Dye

(3) Richard Rose

(4) Karl J. Frederick

“Collection of Information™ s
important stage involved in

(1) Public Policy Formation.

(2) Public Policy Implementation.
(3) Public Policy Evaluation.

(4) Public Policy Analysis.

an

The Annual Financial Statement
(Budget) is presented before the
parliament by the Finance Minister under
(1) Article 110
(2) Article 111
(3) Article 112
(4) Article 122

The present recruitment system in India
is based on the recommendation of the
(1) Ridley Committee

(2) Gorwala Committee

(3) Rippon Committee

(4) Macaulay Committee

Filling up of higher posts in organization,
through promotion of existing employees
is known as

(I) Direct Recruitment

(2) Indirect Recruitment

(3) Diagonal Recruitment

(4) External Recruitment

Which one among the followings is
essential to bring changes in attitudes and
values of personnel in Public Services ?
(1) Classification of Posts

(2) Recruitment

(3) Training

(4) Promotion
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